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General Intelligence & Reasoning
Ability

Direction : In the following question, select the related
word from the given options.

Farmer : Field : : Painter ;7

(a) Gallery (b) Stage

(¢) Theatre (d) Shop

Direction : In the following question, the relation
between the letters to the left of : : is same as the
relation between the letters to the right of : & With
reference to this, select the appropriate option that will
replace the two '?" signs below-

STOP:TRVT::7:?

[a) MIND:IQLD (b) HAIL: PLCI

(c) SAND:UDHS (d) BANK:CCQO

Direction : In the following guestion, select the related
number from the given options that will come in place
of 7.

60:15::100:7

[a) 45

() 5

Which number will come in place of * 7 " in the series
given below?

10, 100, 10000, 7

(a) 100000000 (b) 100001010

(c) 100011110 (d) None of these

Find the odd word from the given options.
[a) APPLE [b] ANGLE
[c) AMPLE (d) ADORE

Direction : Read the following information carefully
and answer the question given below-

1. In a family of six persons, L, M, N, F, B, Q, there are two
married couples.

.F 13 the gr?ndmuther of L and mother of M. . Which number will come in place of ' 7 ' in the series
3. N is the wife of M and mother of (). given below?

4.0 is the grand-daughter of P. 15. 30. 90, 360, 7

Who among the following is one of the couples? [ai ?'20 Fied (b) 1800

(a) NF (b) P-F
(© P-M (d) Noneofthese () 1440 (d) 1080

Direction : A figure is given below which is embedded
inside a figure out of the four figures given in the
options. Choose the appropriate option which contains
the figure given below as the answer.

Direction : A figure is given below which is embedded
inside a figure out of the four figures given in the
options. Choose the appropriate option which contains
the figure given below as the answer.
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. Arrange the given words in the sequence in which they
occur in the dictionary.
1. Habit
2. Habitat
3. Handle
4. Hammer
5. Harvest
(a) 21453 (b) 12435
(c) 21435 (d] 14253

. In a certain code language, FIRE is coded as DGPC,
What will be the last letter of the code word for SHOT?
(a) Q (b) R
(c} S (d) P

. If a mirror is placed on line AB, which of the following
figures shows the correct mirror image of the question
figure given below? . Kundan travels 15 km towards south, takes a left turn

and travels 10 km. He takes a left turn and travels 15
km further. How far is he from his original position?
{a) 40km (b) 25km

(] 10km (d) 15km

. In a row of cars, red car is 14" from left and 23™ from
right. How many cars are there in the row?
(a) 36 (b) 37
() 35 (d) 34
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15. In the following question, select the number from the
options that will come in place of " 7 .

(] 83 (d) 95

Select the number that can replace the question mark
(?) in the following series.

211, 215, 231, 267, 7

(a) 312 (b) 421

(c] 298 (d) 331

Direction : In the question given below, two
statements are given followed by two conclusions | and
Il. You have to take the given statements to be true
even if they seem to be at variance from the commonly
known facts. Read the conclusions carefully and decide
which conclusion(s) logically follow(s).

Statements :

Some poets are poems.

No poems are songs.

Conclusions ;

1. Some poems are not songs.

II. Some songs are poems.

(a) Only conclusion I follows

(b) Only conclusion II follows

(¢} Either conclusion I or IT follows

(d} Neither conclusion I nor 11 follows

Three positions of a dice are given below. Look at them
carefully and find which number is opposite to 27

6 9 4
4

(a) 6 (b 3
() 4 (d) 1

The sum of the ages of Arjun and his daughter is 48
years. The average of the ages of Arjun, his daughter
and his son is 25 years. What is the age of Arjun’s son?
(a) 18 years (b) 36 years
(c) 27 years (d) 21years

Gaurav walks 20 meters towards North. He then turns
left and walks 40 meters. He again turns left and walks
20 meters. Further, he moves 20 meters after turning
to the right. How far is he from his original position?
(a) 40 meters (b) 50 meters

(c) 60 meters (d) 70 meters

Arithmetical & Numerical Ability

The HCF of two numbers 88 and 33 is 11, Find the LCM
of the numbers.
(a) 264 (b) 235

(c) 238 (d} 246

How many numbers are there between 150 and 300
which are divisible by 77

(a) 22 (b) 21

(c) 20 (d) 24

The ratio of speeds of two cars is 5:7. The first car
travels a distance of 350 km in 5 hours, Calculate the
speed of the second car (in m/s).

(a) 31.55 (b) 26.44

(c) 27.22 (d) 21.44

Abhi is 4 times as good a workman as Bhishma and
therefore is able to finish a task in 90 days less than
Bhishma. Working together, they can finish the task in-
(a) 20days (b) 15 days
(c) 24 days (d) 30 days

The difference between length and breadth of a
rectangle is 23 m. If the perimeter of the rectangle is
206 m, find the length of the rectangle.

(a) 54m (b) &7m

(c] 60m (d} 63m

The bus fare between two cities is increased in the
ratio 5:7. What is the increase in the fare, if the original
fare is Rs.6257

(a) Rs.875 (b) Rs.175
(c) Rs.350 (d} Rs.250

The average revenue of 11 consecutive years of a
company is Rs.66 lakhs. If the average of the first 6
years is Rs.61 lakhs and that of the last 6 years is Rs.73
lakhs, what is the revenue for the sixth year?

(a) Rs.BO lakhs (b) Rs.76 lakhs

(c) Rs.78 lakhs (d} Rs.74 lakhs

If two t-shirts are given for free on purchasing one t-
shirt priced Rs. 800 , what is the effective discount on
each t-shirt?

(a) 25% (b} 33.33%

(c) 66.67% (d) 15%

A man spends 68% of his income and saves the rest.
What percentage of his expenditure does he save?

(a) B83.64% (b) 95.88%

(c) 92.68% (d] 47.06%

The ratio of edges of two cubes is 1 : 2 . Find the ratio
of their volumes.

(a) 1:8 (b) 8:27

(] 27:8 (d) 8:1

A seller sells a watch at 5% loss. If he had bought it at
20% more and sold it for Rs.115 less, he would have
incurred a loss of 40%,. Find the cost price of the watch.
(2) Rs.650 (b) Rs.600
(c) Rs.550 (d) Rs.500

Find the value of the following expression.
(75.8)2—(55.8)2
20
(a) 191.8 (b) 171.2
(¢) 131.6 (d) 111.6

A missile travels at 1116 km/h. How many meters does
it travel in one second?
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(a} 360 (b) 368 (¢) Prem Rawat (d) Sachin Sharma
{c) 310 (d) 348

Who has been nominated by Rajya Sabha Chairman
A sum of money invested at compound interest Jagdeep Dhankhar to the panel of Vice chairpersons in
becomes three times of itself in 2 years. Find the rate the Upper House on 21 December 20227

of interest. (a] Anju Bobby George (b) Abhinav Bindra

[a) 63.2% (b) 71.2% (¢) PT Usha (d) Shiny Abraham

64.2 d) 73.2
© A (@ » In which year, was the Danish East India Company

What is the third proportional of two numbers 4 and formed?
287 (a] 1614 (b} 1615
(a) 52 (b) 56 (c) 1ele (d) 1617

84 d) 196
() (@ How many fundamental rights are mentioned in

A can complete a task in 20 days and B can complete Indian constitution?

the same task in 30 days. In how many days can A and (a] Five (b) Six

B complete 25% of the task? (¢) Seven (d) Eight

(a) 6 (b) 5

(c) 4 (d 3 In which year was Nationalist Congress Party founded?
(a) 1949 (b} 1999

Between 200 and 400 , how many numbers are (c) 1972 (d) 1997

divisible by 7 ?

(a) 28 (b) 29 In the 42nd Constitutional Amendment 1976, which

(€ 30 (@ 381 word was added to the Preamhle?
(a) Democratic (b) Equality

The ratio of cost price and selling price is 5:9. Find (c) Secular (d) Federal

profit percent.

(a) 80% (b) 85% Sodium metal should be stored in-

(c) 90% (d) 95% (a] Hydrochloricacid (b) Water
(c) Kerosene oil (d) Alcohol

; . (8564167)" | (856167)°

Find the value of- “—g=a—arp 16T =167 What is an exothermic reaction?

(a) 689 (b) 1023 (a] The reaction in which heat is released

(c 1 (d) 2 (b) The reaction in which heat is absorbed

(c) The reaction in which neither heat is released
The price of an article is reduced by 10% . To restore nor absorbed
it to the original price, the reduced price must be (d) None of these
increased by-

(a) 10% (b) g%% What are the main components of Brass Alloy?

Copper and Zinc
Q 11% d) 11l o
(c) o (4 11 g e (b) Copper and Strontium

(c] Copper, Zinc and Nickel
Which cricket ground is known as the “Home of Which gas does a fire extinguisher emit?
Cricket"? {(a) Carbon monoxide (b) Chlorine
(a) Melbourne Cricket Ground (c) Carbon dioxide (d) Nitrogen
(b) Eden Park Cricket Ground
(c] Adelaide Oval Cricket Ground
(d) Lord's Cricket Ground

Who prepared the draft of Quit India Resolution?
(a) Vallabhbhai Patel (b) Jawaharlal Nehru
(¢) Acharya Kripalani  (d) None of these

In the context of the Indian Economy, What are "Ways

and Means" advances?

(a) These are part of the infrastructure projects
financing mechanism by the National
Investment and Infrastructure Fund

(b} These are loans advanced by the World Bank to
developing economies

(c) These are temporary loans advanced by RBI to
central and state governments Which of the following articles deals with the election

(d) These are loans advanced by the IMF to of the Vice-President?
overcome the financial crisis (a) Article 64 (b) Article 68

(c) Article 66 (d) Article 62

Where were the hymns of Rig Veda composed?
(a) Punjab (b) Gujarat
(c) Rajasthan (d) Uttar Pradesh

Who can remove the Vice-President from his office?
(a] President (b) Prime minister
() Supreme Court (d) None of these

Which Indian author has launched his book titled
'Hear Yourself' for the Indian subcontinent in Mumbai?

In which state is "Luddi" dance performed?
(a) Bhanu Sing (b) Vijay Bhardwaj

(a] Punjab (b) Madhya Pradesh
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58.

59.

{¢) Haryana (d) None of these

Which of the following countries is not a member of
SAARC?

{a) Pakistan
(¢) China

(b) India
(d) SriLanka

Which instrument is used for measuring the purity of
milk?

(a) Lactometer
(c) Cyanometer

(b) Cryometer
(d) Barometer

Which layer of the earth’s atmosphere contains the
ozone layer?

{a) Troposphere
() lonosphere

(b) Mesosphere
(d) Stratosphere

English Language & Comprehension

61,

Direction : In the following question, out of the four
options, select the option which is the best substitute
of the phrase given below-

Average in amount or quality.

(a) Moderate (b) Supernatant

(c)] Hobble (d) Hum

Direction : In the following question, out of the four
options, select the option which is the best substitute
of the phrase given below-

To make a person or animal go away by waving one's
arms at them.
(a) Scram
(c) Vamoose

(b) Shoo
(d) Scoot

Direction : In the following question, out of the four
options, choose the one which best expresses the
meaning of the given word.

DISCERNING
(a) Naive
(c) Inept

Direction : In the following question, out of the four
options, choose the one which best expresses the
meaning of the given word.

SUCCULENT
(a) Torrid
(c) Arid

(b) Asinine
(d) Astute

(b) Luscious
(d) Bare

Direction : In the following question, out of the four
options, choose the one which best expresses the
meaning of the given word.

ARTICULATE
(a) Dominate

(c) Helper

(b) Distinct
(d) Unsteady

Direction : In the following question, out of the four
options, choose the one which best expresses the same
meaning to that of the given word.

INTROVERT
(a) Loner
(c) Elite

(b) Socialize
(d) Indecent

Direction : In the following question, out of the four
options, choose the one which best expresses the
meaning opposite to that of the given word.

LIBERTY

(a) Bondage (b) Choice

68.

(c] License (d) Right

Direction : In the following question, out of the four
options, choose the one which best expresses the
meaning opposite to that of the given word.
INTRINSIC

(a) Elemental

(c) Talented

(b) Innate
(d) Acquired

Direction : In the following question, an idiom is given
followed by four options. Choose the option which best
expresses the meaning of the idiom as your answer-

A dime a dozen

(a) Strength is in numbers

(b) People who say bad things have no value

(c) Very common and of no particular value

(d) You save more if you buy in large numbers

Direction : In the following question, an idiom is given

followed by four options. Choose the option which best

expresses the meaning of the idiom as your answer-

A drop in the bucket

(a) Somuch silence that even a drop can be heard

(b} A very small amount compared to what is
needed

(c) The final act before the task is done

(d) A small favor is worth a lot to a person in

trouble

Direction : Fill in the blank with the correct word in
arder to make the sentence grammatically correct.
Each of the girls received an award.

(a) does (b) is

(c) has (d)

Direction : Fill in the blank with the correct word in
order to make the sentence grammatically correct.
Anyone _____ write a poem on this topic.

{a) can (b) may

(c) ought (d] never

Direction : Fill in the blank with the correct word in
order to make the sentence grammatically correct.

It is possible that Christopher Marlowe have
written plays for Shakespeare.

(a) might (b) should

() will (d) None of these

were

Direction : In the following question, a part of the
sentence may have an error. Find out which part of
the sentence has an error and select the appropriate
option. If a sentence is free from error, select the fourth
option as the answer-

My brother finds it difficult (1)/ to pass away the time
(2)/ at our grandparent’s house. (3)/ No Error (4)

(a) 1 (b) 2

() 3 (d) 4

Direction : In the following question, a part of the
sentence may have an error. Find out which part of
the sentence has an error and select the appropriate
option. If a sentence is free from error, select the fourth
option as the answer-

No sooner had he finished (1)/ his morning walk (2)/
when it began to rain. (3}/ No Error (4)

(a) 1 (b) 2

() 3 (d) 4
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76. Direction : In the following question, four words are

given. Out of them, one word is incorrectly spelt. Find
the incorrectly spelt word.

(a) Surwveillence (b) Stupefaction
(c) Preferential (d) Mandatory

. Direction ; In the following question, four words are
given. Out of them, one word is incorrectly spelt. Find
the incorrectly spelt word,

(a) Fractional (b) Obsolete
(c) Acquired (d) Pracious

Ques (78-80): Direction : Read the passage given below
carefully and answer the question given helow-

If you wish to be a writer, you must learn to develop your
own point of view. All good writers make us see things in a
different light. You may be writing about the same thing as
your classmates, but your presentation must reflect your
personality and individuality. There are so many interesting
subjects you can write about in different forms but here we
will try to attempt writing short stories. There is a good market
for the following types: the humaorous stories, the adventurous
stories, the domestic stories, the mysteries and stories related
to animals and strange experiences. Don't worry if your story
turns out to be short, some of the best stories are quite short.
Be very careful about the climax or end of the story. It must
be what the reader fears, desires, expects or best of all doesn't
expect. So, get down to it. Think of a plot, make points on how
the story will progress and pen it down,

78. The most important thing about being a writer is-
(a) You must have a pen and paper
(b) You must have a degree in writing
(c) You must have a painful heart
(d) You must learn to develop your own point of
view

. The narrator advises the reader to write in order to-
(a) Earn a livelihood
(b) Show his intelligence to others
(c) Make him famous among his people
(d) Encourage him to become a writer

. Most of the people like to read-
(a) Love stories
(b) Humorous and adventurous stories
(c) Social stories
(d) Horror stories

Hindi Language & Comprehension

. agETET H yged g -
(a) ® (b) =7
() =% (d) s

. EEg TTes T Uyad Uy #19 W 87
(a) @g (b) ®1@
(c) amg (d) amar
(a) wa1
(c) w4

. "HHA" WTeE & dgad -
(a) @

(c) @R

il
ERLE R

(b)
(d)

HHIASMN
ST APIE T6!

(b)
(d)

. OyyEe T @E O gH 2
(a) erdityE (b) &=
(c) THSW (d) FHHURT

. uefi 1 I ygihardt oe 8-
(a) =@ ) fau
() @7 (d) =H

. affafe w5 3fa vafgard =es 8-
(a) R (b) TrEErR
() =rig®H (d) $HADE S
. Fafafad faeet § 9 sae &1 A 8-
(a) Sfgyd (b) SMETd
(0) SiusHR (d) 78 DIg TRl

. Prufafaa fGeadf 59 <ur o1 adaa §-
(a) W&R (b) Hig
(c) fagm (d) s

. Fotatea T § 9 o &1 faam g-
(a) @Y (b) H&T
(c) ¥&A (d) AP T

. TR IS e TTd da%eat 95 810 B S-T1 AR 87
(a) arguTE (b) THE
(c) & (d) Qum

. ERU HHT el gRRET § S1F 6 e 87
(a) =9 (b) ¥uH
(c) E=U&F (d) aifergdifaa

. Forren @t wd O fawe 2-
(a) F=1+ aman (b) 3%+ 3mar
(c) 4 am=m (d) .. amEn

. el aRE BATr & fo we HereR B-
(a) HE &l T (b) HedrwT
(c) He @M (d) HgIaw

. T OR H g & 3 B
(a) w1 HH & (b)
() UHIEERGESA (d)

. EF" %] dagd ¥ g-
(a) &% (b) wigs
(@ =% (@) TIPS TR

. i 3w U areg & e Fuged Ud s &1 99 Bifad-
forgent Hafe gudl A &

(a) it (b) TR
() gE=x (d) 33g

Ques (98-100): &= : H19 g ww uy #, uss wrerre o man 2
T T A U SR 3Ed e Ruw ny e g

IR A & 1T TR08 U ald & 7 Hedry I¢ JE1 @ ard ail
50 - Raiard, worg, Wdard, sardl aret1 sr=r-omer o & wwar
B ST Hod 6- "HIUSH! G To] TITAT? AN A9 OX Hadl el 36
€ 3T 31U 5 SRETNd H @ §7 9 HRUI G HIged #1 relgdl
wRTE g1 2E 21 F It &l ot geb § 8§ dan 1 g3 g & b agT
S TR Eed § 9 TR W Bl § | 30 STH-uTH & S I T T
313 & IR @I Tl od & | 3 3R o fagR 9 o {ie $uHER
ST & S guTe 5 g & el wes 81 0§13 39 i e
T o & S wremor-at |rd o2 oft §TH Wa e & €| @il & Ui
A T 20 T OR e g ol R AT 3 aferetel ) wetdhd og

ST-slTe U T &1

ST HIE TEl
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1 ool U3 37 T @ wiaen S el 21 3 I ag g ey o
U AT A S ¢ | OE § ol 79 g2 1 & U g O
B v g Hfel g1 S 9 ifa-e 6 TR al @ o ot o
B1u it gt o o §, g g ot 8 e su it ot sress
FX Tl B VMgl @1 I ISR Hel &, 5 ] dral| 96 M) see
YR g & ol ge SR vaen 9 R fler adl g3 21
iRt o9 Bt I oS @ aum i v § | su gha g we-a At
2, TS o1 81 wirel] @ Af 1S ot & wfey vile e aferan guR-
R @ A e fe-afau ot tegm & gu-ad F it
o1 o wsd €1 4wt b-A-af v § a9 © At
Pl il ) B 6 2 v T ¥ B & TR ) TR R ot )
TEHASPL Id e ¢l
98. TEd, Al o RIS &1 gedh 1 ol & guiih-

() Rremga s ani & srea @i &

(b) @€ fordl ard &1 iRe & 7E e

(c) @ 3¢ THa-UgdHal §

(d) e arel ai e ofR $AFeR §

99. HYRW FTd 92 H G B G5 B ad o7
(2) dEdSuRfFaam (b) R igst-ued a@
(c) Tifa & 3y e Horgd (d) S g srma al

100. TF &S ¥ F1 I & 19 "F1 T G0 o] en?
(a) A oo e Al 2R &
(b) TTEHITFIEAE
(¢) I e G Ha-oiw wg e
(d) dgeame

(# Smart Answer Sheet /]
[ conrect o

Skipped | Percentage of students who skipped.

whao d Iy

30.56%

30.56%

33.33%

30.56%

2.78%

8.34%

19.44%

8.33%

19.44%

27.78%

55.56%

30,56%

58.33%

27.78%

19.44%

27.77%

13.89%

44449

27.78%

11.11%

36.11%

66.67%

13.89%

52.78%

IR

52.78%

55.56%

61.11%

47 22%

55.56%

47.22%

47,

58.33%

44449

Correct

Carrect

i

B3.33%

5.56%

8,33%

BO.56%

At A4

B83.33%

694449,

38.89%

19.44%
22.23%

19.444%

2.78%
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[ //Hints and Solutions / ]

1(A). A farmer works in a field and a painter works in a
aallery.

2(8). +1 +2 +3 +4 +]1 +2 +3 +4
S T OLP HAI L

K YT L C ]
Given-

60:15::100:7?

The logic applied is-

= 15 = %

On applying the same logic,

=7 = 2=

=7=25

25 will come in place of '?",

The series given is-
10, 100, 100040, ?
The pattern followed is-
> (10)° = 100
— (100)% = 10000
On following the same pattern,
= (10000)* =?
= 100000000 =7

5(D). The words APPLE, ANGLE and AMPLE have three
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